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REEER/English version

Hayato sold an armor and 6 horses. He can buy 18 baggage with the money. Koshin sold 3 armors and 6 baggage. He will buy 6 horses, but the money is not
enough to buy then. Ikumi sold 10 baggage. He can buy 9 armors with the money. How much is each of one horse and one armor and one baggage?

Answer  One horse is 8™°
One armor is 6™°
One baggage 3"°
Solution
(D (6 horses+1 armor)—18 baggage = 0
@ (5 horses—3 armors) —6 baggage = 4
3 3 horses—9 armors + 10 baggage = 0

(2)'s horse is divided by 2’s armor and baggage’s price, gives armor6°! baggagel1hikiobu The price is 8°Y. When this layout is applied to a house, armor3e6by,
baggage7hki2bu The price is 4¥°8. (1)’s 1, in addition to a armor. When this baggage is subtracted from (1)’s18"ki and money is used just as it is. Then they
became armor4¥°6°Y baggage10Mkigbu. The price is 47°8by,

When the calculated previous layout is applied to 3)’s house, armor17°8b! haggage3hikigbu, The price is 11vo4bu,

When armor is subtracted by 9™, (3)’s 10Mki js added to a baggage and money is used just as it is. The armor7™°2bu baggage13hikigbu, The price is 2¥°4Pu, Then
armor77°e2b js applied to (1)’s baggage 10"kigbu  The price 77nki7bugri,

Before it is calculated armor 4¥°6" is applied to the one is now baggage 13"kigPu, The baggage is 62"k5bu6™ This is subtracted from one a short while

Ago’s 77MK75Y6M The rest is baggage 15"ki25U According to a law. The next

47Y08bU js gpplied to the one is now’s armor 7Y°2°4 The money is 4Y°5bugr

2rvo4bu s gpplied to (1) armor 496U The money is 117°04.These two ones,

457°6° This is subtracted from the law.

One baggage’s price is 3"°.

Then , the 4Y°8°“ money is applied to baggage , 13"ikigbY  the 2¥°4°U money is applied to baggage 10"kigku These two ones is subtracted from law’s 5hiki2bu.
One armor’s price is 6™°: (EE¥ER
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#] 6x+y=18z 1st
A 3y+6z=5x-4  2n
% 10z+3x=9y 3rd

EGY BT HE.

¥ 6x+y-182=0  1st
[ 5x-3y-6z=4 2nd
% 3x-9y+10z=0 3

(ERDxEHE)

1 RDOxDFZFZE11ZTH
(5x-3y-6z)+—5=4-+-5
x-0.6y-1.2z=0.8

2 1DxEIDXIZEHES

6(x-0.6y-1.2z)=6"0.8
6x-3.6y-7.22=4.8
3 2L TxZiEE
6x-3.6y- 7.22=4.8
+)-6x- 1y+18 z=0
-4.6y+10.82=4.8
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he price of one horse - x

The price of one armor -y

The price of one baggage -z

When | make a 3 yuan linear equation,

| can express the expression like this
and transforms this,

| remove x of the 15t and the 2nd

| make a coefficient of the 2 x 1

| make a coefficient of x
of 1 the same as the 2"9 of it

| subtract the 15t from 2 and remove x
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The horse* = =1t is worth of one million six hundred fifty thousand.

Konida* = =Package

Armor* = *It is a tool to protect body from bow and arrow and so on.
This shape was made to add a lot of ideas. ( B HRTE )

> http://museum.city.fukuoka.jp/archives/leaflet/448/
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4 1DxTZDOXIZEDHES
3(x-0.6y-1.2z)=3-0.8
3x-1.8y-3.62=2.4

5 4—BELTxTEHE
3x-1.8y- 3.62=2.4

+)-3x+9 y-10 z=0
7.2y -13.62=2.4

(xZHELEARESLTERE)

6 7.2X10.8-4.6 X13.6
=77.76 -62.56

=15.2
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7 (4.6 X2.4+7.2X4.8)=15.2

=(11.04 +34.56) —15.2

=45.6 —15.2

=3 YD HKE 3
8 (10.8X2.4+13.6 X4.8)=15.2
=(25.92 +65.28) —15.2
=91.2 ~15.2

=6 FEDKE 6
9 y=6,2=3Z7{XAL.xZXK&5

6x+6=18"3

6x=54-6

x=8 EDE 8Hi
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<F&H./Summary>

EI = —RARXNZRHNT, SEOMDEERZRHTIND,

This problem is calculating prices of three things by using simultaneous linear equation with three unknowns.

<S1EDOETE Future Tasks>
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We relied on the Internet when we translated Japanese into English this time. We will translate Japanese into English

by our English next time.
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BOIEMNTEFEL = T FEBRADHEDE
t was worried without it being understood really when | watched the original,
put was able to think that it was fun first while | was active in cooperation with the friend of the group.

n addition, | could learn the importance of thinking carefully through this activity and was had a very splendid experience.
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HERL kS murase yosimasu
[ d] sanpouhutudannkal

| remove x of the 15t and 3"

| make a coefficient of x of 1 the same as the 3™ of it

| subtract the 4 from the 3™ and remove x

| calculate between the expressions that removed x

| am based on this
| find each price

The price of one baggage is 3™°

The price of one armor is 6™°
| substitute y=6,z=3 and demand x

The price of one horse is 8™°
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